Chapter 23: Mass Society in an “Age of Progress,” (1871-1894)

Lesson 2: The Emergence of Mass Society

Opening the Lesson:

Developing the Lesson:

I. Population Growth and Emigration

A. Population

1. Between 1850 and 1910, the European population increased from 270 million to over 460 million.

2. Main cause: rising birthrate but after 1880 there was a noticeable decline in death rates.  Why?

i. Medical discoveries. 

ii. Improved environmental conditions.

iii. Agricultural productivity combined with transportation made food cheaper and easier to get.

iv. Pasteurization of milk.

v. Better nutrition and hygiene.

B. Emigration

1. People in undeveloped areas of Europe began to migrate to industrial nations.

2. By 1913, 400,000 Poles were working in the Ruhr region of western Germany and thousands of Italians had gone to France.

3. After 1898, the booming North American economies triggered a mass emigration from southern and eastern Europe.

4. Between 1880 and 1906, approximately 500,000 people left Europe for North America. 

5. Between 1906 and 1910, annual departures increased to 1.3 million.

6. Many left for political and social reasons.

i. Between 1880 and 1914, 3.5 million Poles from Russia, Austria and Germany went to the U.S.

ii. Between 1900 and 1913, 40% of all Russian immigrants to the U.S. were Jewish.

II. Transformation of the Urban Environment

A. Urbanization

1. In 1800, 40% of the population in G.B. lived in cities, 25% in France and Germany and 10% in eastern Europe.

2. By 1914, 80% in G.B., 60% in Germany, 45% in France, 30% in eastern Europe.

3. Why?

i. Vast migration from rural areas to cities.

ii. Unemployment, hunger and rural poverty.

B. Improving Living Conditions

1. Concern over sanitation and epidemic diseases caused legislatures to pass laws creating health boards, medical offices and building inspectors.

2.  The Public Health Act of 1875 in G.B. required new buildings to have running water and internal drainage systems.

3. Civil engineers were able to bring clean water into city and at the same time expel sewage.

C. Housing Needs

1. Middle-class liberals believed that reasonably priced rental homes would improve the overall living conditions of all citizens by forcing private landlords to improve the conditions of their dwellings.

2.  Octavia Hill.

3. Lord Leverhhlme—Port Sunlight.

4. Ebenezer Howard—garden city movement.

5. In 1890, the British Parliament passed a law (Housing Act) requiring towns to collect taxes and build cheap housing for the working classes.

D. Redesigning the Cities

1. Old walls that were designed to protect cites were pulled down and replaced by parks.

2. Wide boulevards allowed troops to be used to crush rebellions.

3. Reconstruction of Paris by Napoleon III after 1850 is the best example.

4. Changes in transportation allowed people to live in suburban neighborhoods.

III. Social Structure of the Mass Society

A. The Elite

1. 5% of the population but controlled 30-40% of the wealth.

2. During the 1800s, landed aristocrats joined with industrial capitalists to form a new elite.

3. Over time, wealth shifted to the upper-middle class.

4. The sons of the new elite were exclusively educated and became government and military leaders.

B. The Middle Class

1. Professionals in law, medicine, civil service, business owners and merchants.

2. Industrial capitalism added engineers, architects, accountants and chemists to the middle class.

3. Between the lower middle class and the lower classes were salesmen, bookkeepers, bank tellers, telephone operators, salesclerks, and secretaries.

4. Promoted family, education, science, technology and progress to their children.

C. The Lower Classes

1. 80% of the European population.

2. Rural lower classes: landholding peasants, agricultural laborers, and sharecroppers.

3.  Urban working class: skilled artisans, semiskilled laborers and unskilled laborers.

IV. “The Woman Question”:  The Role of Women

A. Traditional Women’s Roles

1. Getting married, staying at home and raising children.

2. Women were forced into marriage because they were denied most avenues of income.

3. Many single women could only find work as domestic servants.

4. Birthrates dropped during this period.  Why?

i. Contraception.

ii. Abortion, infanticide, abandonment.

iii. Standard of living.

B. Middle Class Family

1. Nuclear family.

2. Use of domestic servants.

3. Fewer children allowed for more leisure.

4. Emphasized family activities, projects, education and music.

5. Children were entitled to long and enjoyable childhoods and were not viewed as small adults.  Increase in toys and games.

6. Sports were introduced in schools to “toughen boys up” and were organized along military ideals and character building.

i. Boy Scouts

7. Wives were expected to maintain the expected appearance of the well-ordered household.

C. The Working Class family

1. Boys and girls were expected to work, childhood ended around the age of nine or ten.

2. Between 1890 and 1914, wage increases helped improve the lives of the working class.

3. New industrial products made life easier for many working class women.

4. Began limiting the number of children to maintain a standard of living.

5. Children began to be viewed as dependants instead of potential wage earners.

6. Child labor laws and compulsory education laws pushed children out of the workforce and into schools.

V. Education and Leisure in the Mass Society

A. Education

1. Early 1800s: education focused on Greek and Latin and was for the sons of the elite.  Little interest in primary education.

2. After 1850, education focused on science and technical vocations and was expanded to the middle class.  Mass education required some level of primary education for both boys and girls.

3. Compulsory primary education was free and state-run.

i. Austria in 1869.

ii. G.B. in 1880.

iii. France 1882.

B. Why Education?

1. Liberals believed mass education was the key to social and personal improvement. Also, to supplant Catholic education with moral and civic training based on secular values.

2. Conservatives viewed mass education as a way of improving military recruits and promoting social discipline.

3. Industry supported mass education as a means to train white and blue-collar workers.

4. Political reasons were the main reason for promoting mass education.  

i. The expansion of voting required educated citizens.

ii. Instilled patriotism and nationalized the masses.

C. Curriculum.

1. Academic curriculum focused on reading, writing, arithmetic, national history, geography, literature, singing and drawing.

2. Boys and girls were separated.

3. Boys were given more technical training.

4. Girls were given more domestic training.

D. Demand for Teachers.

1. Most were female.  Many males saw it as an extension of a women’s “natural role.”  Women could also be paid a lower wage.

2. Creation of teaching colleges.

E. Effects of mass education.

1. Increase in literacy.

2. Rise of mass-curricula ion of newspapers. “Yellow press,” easy to read and pushed the sensational.

3. Specialty magazines.

F. Mass Leisure

1. Amusement parks.

2. Sporting events: Soccer, rugby, baseball, boxing and the Olympic games.

3. The beach.

4. Music and dance halls.

5. Tourism and vacations.

Concluding the Lesson:
